
Prealgebra 
Activity 4 

Name: Jel') ~ J>e,v~"S 
Math-TlOl Spring 2014 

Problem 1. (Algebraic teacher's solution) Suzi is 20 pounds lighter than Anne. Their total 
weight is 230 lbs. Find Suzi's weight. fJigebf'a/( SG--luh'of)_j 
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Problem 2. (Bar diagram, algebraic teacher's solutwn usm on y one vana le and using i--
multiple variables) Jenny, Tina, and Suzie went to the mall. Jenny and Tina spent a total Su~i ~ 
of $100 while Jenny and Suzie spent a total of $150. If you know that Suzie spent 3 times oJ€0h4--3 
as much as Tina did, then how much did Jenny spend? {O'ilb5 
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Problem 3. (Bar diagram, algebraic teacher's solution using only one variable) Jeff and 
Bob began their day by splitting a bag of M €3 M's equally among themselves. Throughout 
the day Jeff ate 600 M €3 M's while Bob only ate 240. At the end of the day Bob observed 
that he still had 7 times as many M €3 M's as did Jeff. How many M €3 M's were in the 
original bag? · 
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Problem 4. Evaluate the following numerical expressions: 

a) (8 : 2) x 4 ; 4 X 4 ..:= I b --
b) 8 + (2 ~) = 3 + g == \ 
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Problem 5. Use the identity (a+ b )2 = a2 + 2ab + b2 or (a- b )2 = a2 - 2ab + b2 to calculate 
the following. 
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Problem 6. Use a rectangular array model to find the following squares. 
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Problem 7. Use the identity (a+ b)(a- b) = a2

- b2 to calculate the following. 
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Problem 8. Which of the following are Algebraic Expression (AE}, Equation (EQ) , or 
Invalid (IN)? 
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Problem 9. Show that am · an = am+n if a, m, and n are nonzero whole numbers. 
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Problem 11. Show that a~ = a . n if a, m, and n a':J ;Qn"§.~~ole numbers. aJ-q 
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Problem 12. Show that am· bm = (ab)m if a, b, and m are nonzero whole numbers. 
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Problem 13. Show tha( ~: = am-n if a, m and n are whole numbers and m =f n. Note: If 
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Problem 14. The above rules can be extended to the case in which m and n are allowed 
to be 0 {but a and b are still nonzero). If a is a nonzero whole number, how should a0 be 
defined? Justify this by the natural extensions of previous problems {rules). 
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Problem 15. Calculate the following mentally using 25 = 32, 28 = 256, and 210 = 1024. 
tO '2. 
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Problem 16. Let a and b be non-zero whole numbers. Simplify as much as possible, factoring 
the numbers and leaving the answer in the exponential form. ·• _1{ 
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